Math 2 Practice Final: Part 2
Name: Hour:
Directions: Read all instructions completely. Show all of your work. No points will be given without
appropriate work being shown and answers indicated.
’&. Solve the following system of equations, show all your work.

1. vy (use the graph if you would like)
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2. Given the équation: f X =-3%x*+5 Find the average rate of change over the interval [-1,3] :
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3. Given the following graph, find the average rate of change over the interval [2, 5]
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4. Write a quadratic equation given the graph below.
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5. Given the following re calculate the area of the rectangle: L
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Write a quadratic function that fits the given criteria. w
‘36. Vertex at & through (0,€7), written in vertex form: - = A (o-zr'- ?
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7. Solutionatx=-4 an<§x = Z written in standardfo% I 'ﬁ
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8. If a football is kicked straight upward, then the height h(l‘) of the football in feet at time t in seconds is given by

h(t) = —16t2 + 64t + 10. (—Hm ) Nfg w‘.)

a) What is the height of the football 4 seconds after it is kicked?
Wity t=d {6 +64{) to =
b) How long does it take for the football to return to earth (round to the nearest
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c) How long does it take to reach the maximum height?
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d) V\\N_,_hat is the maximum height?
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e) What is the real world domain of the function?
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f) What is the real world range of the function?
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9. _Here are 4 equations of quadratic functions and 4 sketches of graphs of quadratic functions.
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Match the equation to its graph and explain your decision.
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10. Write the coordinates of the points:
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